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maximize 5xr1 + 4xo + 3x3

subjectto 2x1 +3x9 + x3 < O
dx1 + x9 + 223 < 11
3x1 +4x0 + 223 < 8
xr1, o, 3 > 0
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E =13 — 3 29 — 1 x4 — 1 x
r3 = 1 4+ x9 + 3 x4 — 2 xg
rT1 = 2 — 2390 — 2 x4 + x4
x5 = 1 4+ 9 x9 + 2 x4
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maximize( ok + 4xo 313

subjectto 2x1 + 329 + x3 < O
dx1 + x9o + 223 < 11
3r1 +4x0 + 223 < 8
r1, T2, x3 > 0 .



& =13 3 To 1l 24 — 1 xg
ry3 = |1 To 3 T4 — 2 Tg
r1 = 2 2 o 2 x4 + xg
rs = 1 D Io 2 4



& =13 3 To 1l 24 — 1 xg
rg = |1 To 3 T4 — 2 Tg
r1 = |2 2 o 2 x4 + xg
x5:i D Io 2 4
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maximize dxq1 + 4xo 323

subject to 221 + 329 + x3 < H+ab
drx1 + x9 + 223 < 11+Alol
3rx1 +4x0 + 223 < 8*Alo3
x1, o, x3 = 0



& =13 3 To 1l 24 — 1 xg
ry3 = |1 To 3 T4 — 2 Tg
r1 = 2 2 o 2 x4 + xg
rs = 1 D Io 2 4



£ =13 —|3 29 — 1 24 — 1 is
rg = |1 To 3 T4 — 2 Tg
r1 = |2 2 o 2 x4 + xg
x5:i D Io 2 4
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We need Xo'+aXg 2 O




